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FHI 1 03 T quIid : 100
Time : 03 Hours Maximum Marks : 100
fAdTr —

(i) I8 %7 97 5 @Sl ¥ [39forT & @vs 3 7T @vs §'/

(i) @Us 3 & T g7 TS & TAr g7 HHE 6 7 23 % H s By
oY 77 &/

(i) @Gve ' F T go7 v TV & forgd & [ ff vF geT & @l Sw &
faarf &/

Instructions -
(1) This Question Paper is divided in to two sections- Section A and Section B.
(2) All questions are compulsory in section A and internal choice is given from
Q. Nos.6 to 23.
(3) In Section ‘B’- two questions are given, candidates are required to attempt
only one question.

Yvs—3 /SECTION-A

w1 R et @1 gl HIRT |

Fill in the blanks:-

() 9 & WH T B TART 2 9 e TR SS9 Fed T 1(1)
When the proprietor of the business well draw cash for his personal use it is
called .......oooeeiiieieeeees

O IR T S R MR IS S s 2 ) ded 2l (1)
Goods unsold at the end of the yearis called ...,

0 I E R CALS L 2 ST © | (1)
Bank Accountis a ........coooeiiiiiiiinii, account.

(iv) TH THA UARE B ST H oo fordt st 21 (1)
At the end of each journal entry ..., will be written.

(V) TIT TFAREIT e 8 H BT I B | (1)
Contra entries are Made in .......coouiuiiiiiii e book.
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I /AT H SR Iy —

Answer the following in True/ False.

(i)

(ii)

(i)

(iv)

(v)

TR} BT folRaa 8T saedd -1e) & |

No need of vouchers be is written.

FUORT & o | gfg 89 R I Sfde fhar S 2
Increase in assets is debited.

S @™ | 99T A1 WA YSITd e HEerdl & |

The reserve created out of capital profit is called capital reserve.
forg @1 emy faaxor ff ®ed T |
Balance sheet is also known as income statement.

GO S A WaHTd & BT ¢ |

The capital expenditures are recurring in nature.

Udh e /I § SN S —

Answer the following in one word/sentence -

(i)

(ii)

(i)

(iv)

el Al bl fbd @ # forar Siar 87

In which account all the indirect expenses are charged?
Ahd o™ fod @ & a grar 87

Gross profit is calculated through which account?
M I WrdT fbg W &7 I8r™dT A 9917 ordT 27

By the help of which account income and expenditure a/c is prepared?
R AUIRe FRATSH & AqH = 3 BT FT ST 57

What is the major source of income of non-trading concern?

qel fawed gig—

Select the correct answer-

(i)

ATSIENT Holkd & 9T H 0T N 1o fedr raT a—

(31) 4% PA @) 6% PA
() 10% PA () 12% PA
In the absence of partnership deed, interest is given on loan at-
(@) 4% PA (b) 6% PA
() 10% PA (d) 12% PA
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(i) VSRR Felkd IR fdvar ST — (1)
(@) arfart g @) ufee® g
() afera: srfvard & (8) oM@
Preparation of partnership deed is -
(@) Compulsory (b)  Optional
(c) Partly compulsory (d)  Unnecessary
(i) SRR I A gRT FaTferd giam a— (1)
@1 TIeRT IrffaH 1930 @) SRR NfRfTE 1932
(@) w1956 (@) TR AH 1956
Partnership operates as per provision of -
(a) Partnership Act 1930 (b) Partnership Act 1932
(c) Companies Act 1956 (d)  Partnership Act 1956
(iv) SRR § gAaH Fe B © — (1)
@) 2 @) 10
@) 7 (%) 6
Minimum members in partnership are-
(@) 2 (b) 10
(€ 7 (d) 6
g5 el Slisdf §8d —
< q
() FomE R NfEE (@) U1 H 9IRar T8 (1)
(i) 9 I TR A (o) T FOTIH (1)
(i) ST TR (c) YoiNTd ™ (1)
(v) TP FR¥=d emafd & a1 d) dfvs (1)
Match the columns:-
(i)  Premium on Debentures received (a) No right in Management
(i)  Redeemed at par (b) Redeemable Debentures
(iii)  Debenture Holder (c) Capital Gains
(iv) Redeemed after a fixed time (d) Bond
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U6 SId RO A T ded 77 (2)
What is meant by bad debts?

31141 / OR

SMERYT | T 3T &7
What do you mean by drawings?

U7 AU Pl GRATT BIRY | (2)
Define trial balance.
IJAdr /OR

deTIe I BT T 2T FT 57
What is the main object of preparing trial balance?

U8 d& AR fdaRer UF HIF &4 87 2)
Who prepares the bank reconciliation statement?
3Idr /OR
d& AR faaRor &= g7
What is bank reconciliation statement?
U9 TP Uelyg gifgar Fam 2? 2)

What is single sided error?
3AUdr /OR

Sexd @rar fod ded 87
What is Suspense Account?
g.10 fored & @ drd 87 2)
What is meant by Balance Sheet?
3141/ OR

e Y fhd wed 27

What is Indirect expenses?
g1 9 gEAmRl W gl B AR B IT0ET BTy (3)
USil 2,00000, @GR 60,000, S ATIHY 40,000

Calculate the amount of Assets from the following information-
Capital 2,00000, Creditor 60,000, Bank overdraft 40,000

3dr /OR
AUR &I fe AT 70,0000 & 3R &R 260000 & & | Yol H A =
PHIFSTT |

Total Assets of business are ¥ 70,00,000 and creditors are ¥ 26,00,00. Find out the amount of

capital
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IS & W Bl GHSSY | (3)

Explain Nominal Accounts.

4T /OR
IR I T B dTel HIl & folv RIT Al yfafte g2

What Journal entry is made for goods destroyed by fire?

g HHE AT FAT &, e SR derue &1 e 2? 3)
What are those errors on account of which Trial Balance does not tally?
3Idr /OR

deie W= UHId 5 ST arenl Jrgfgdl &f qarsdy |

Explain the errors which will not affect the agreement of the trial Balance.

9% AR fqaRoT &7 JEd qagy | (4)
Explain the importance of Bank Reconciliation Statement.
3Udr /OR
fr=IfeRaa ol | 31 A" 2017 B HANST B  KID H deue §9184 |
oy - 80,000
IEER) — 1,30,000
IEEIRE] — 30,000
gTEfaar — 30,000
HATER - 48,000
TR — 12,000
KRN — 19,000
Ll — 50,000
ERRCIER] — 1000
From the following balances prepare trial balance on 31 March 2017 in the books of Mano;.
Purchases - 80,000
Sales - 1,30,000
Advertisement - 30,000
Op stock - 30,000
Furniture - 48,000
Debtors - 12,000
Cradlers - 19,000
Capital - 50,000
Purchase Returns - 1000.
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AfforRad gammsl | 31 A/ 2017 S AUR WTAT 18 | (4)
1. BT 100000, {353 6,00,000, A 2,00,000, HSIGR 20,000, 3ifcH BT 1,00,000,
HI TR TSI 20,000

From the following information prepare Trading Account for the year ending 31 March 2017.
Op. stock 1,00,000, sales 6,00,000, purchases 2,00,000, wages 20,000, closing stock

1,00,000, carriage inwards 20,0000
391 /OR
IR WAl Td ™ BN W H 3R qarsy |
Explain the difference between Trading Account and Profit & loss Account

T BH H X, Y IR Z WEIER 8, Sl &M 81 3: 2: 1 & guTd H dicd 21 Y Bl 4200

qa TAT Z BT FA ST ST 1,20,000 B, BH WR 3% BHRM f&AT S@r 2| a¥ 2017 H

9 12,000 31T | o™ I TS @rdm 99184 | (4)

X, Y, and Z who divide profits and losses in the ratio of 3: 2: 1 are partners in a firm. Y is
allowed a salary of 4200 and Z gets commission 3% on sales which is amounted to
%1, 20,000. In the year 2017 firm earned profit ¥ 12000. Prepare Profit & Loss appropriation

account.

3dr /OR

ATSIAR] Holg ¥ IeelRgd IR g TSy |
Explain any four points of partnership deed.
AT TTAT 3R TR W H IR qargy | (4)

Write the difference between Revaluation A/C and realisation A/C.
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3igar /OR
3 3R g AR B 31 A/ 2017 B IABT g7 FF=179R 2 —

A and B are partners, on 31 March 2017 their Balance Sheet is as under.

[320]

IR Liabilities Amount | §HRT Assets Amount
z Z

&R Creditors 3000 79 (Machine) 1200
USil (Capital) WHTER (Furniture) | 400
A 3250 W (Stock) 2650
TR (Debtors) 3780
B 2000 5250 JIBg  (Cash) 220
8250 8250

13U 2017 DI 9 “C” Pl IRMER DI AEERI H Y o & | $9 3G R F=1gAR

JTeaTd gl —

(1) e &1 7eg 950 AT AT |

(2) WeIeR & JeAiw 380 B TAT|

(3) BT BT HeT 450 T ¥ FEMT I |

g ST a1 |

On 1 April 2017 they agree to give admission to C in equal partnership on the following

terms —

(i)  Machinery is valued at ¥ 950

(i) Furniture is valued at ¥ 380

(iii)  Value of stock is increased by ¥ 450.

Prepare Revaluation A/C.
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fasrg fofice =1 10 TaTel 12000 379 SN U | 59 T H 2% 37ded WR, & ATde
Td 42 UM Ud S Iree R < 2| |/ IR/ Jer wg Ut &1 TS | SR
gl | Thel g8 Gfaftear Iy | 4)
Vijay Ltd issued 12000 shares of 10 each. The amount of share payable as ¥2 on

application, ¥4 on allotment and ¥4 on first and final call. All amounts have been duly

received. Pass necessary journal entries in the books of company.
3Idr /OR

qaifIeR W & By IR YHR qarsy |
Explain any four types of preference shares.

Th T A Ueb A fhTR ¥ 9,00,000 X ¥ hT &I | B Jod & YA WHY 100
ATl 12% PO U WHed WR AT {6y | Swe o gedel d Add g8l yfaftedl
AR | @

A company has purchased a machinery for ¥ 9,00,000 from Kishore and issued 12%

debentures of ¥ 100 each at par, for the payment of machinery. Give necessary journal entry in

the books of company.
391 /OR
FOTAAT BT fIRIvAg qarsy |
Give characteristics of Debentures.
I YD H (b9 UHR & o T2l ford S 272 (5)
What type of transactions are not record eel in the surcharges books?
3I9qr /OR
fFreferRad @aeRl & fay oo ufdafteal SIfog |
Pass the journal entries from the following transactions —

() TPE F AUR YRS fHAT 12000 2

Started business with cash ¥ 12000

(i) ¥oTd A HIA WRIGT 4000
Goods purchased from Rajat ¥ 4000

(i) §® # S fBT 8000
Deposited into bank T 8000
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(iv) WeiraR WRIGT 2400

Purchased furniture for ¥ 2400

(v) Hdhg "l §9T 3600 %
Goods sold for cash T 3600

U421 IR — ARE FRIRI $T M & T Sl BT [eg § qui BIfory | (5)
Describe in short the main sources of income of non trading concerns.
3qdr /OR

fFeferRad | 31 fadwR 2016 1 WIS YT @Il g153—
() I B AT — 160003

(i) =TS a9 P FST U — T 2000

(i) TR a9 PT AT YT — 20003

(iv) STTSila FawIdl o — 120003

(v) fafeamT fsar — 500002

(vi) iR WRIGT— 60003

(vii) el AT TWRIET —6000%

(viii) AT BT H faT —10002

Prepare Receipts and Payments A/C on 31 December 2016 —
(i)  Op. Balance of cash - ¥ 16000

(i) Current year’s subscription received - ¥ 2000

(iii)  Subscription of next year received - ¥ 2000

(iv) Life membership fees - ¥ 12000

(v)  Investment purchased - ¥ 50000

(vi)  Purchased furniture - ¥ 6000

(vii) Sports material purchased - ¥ 6000

(viii) Paid for general expenses - X 11000
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F IR T3 :2 D JIUd H M dicd gY ARGRI FaF™ &R & | 31 [SA=R 2016

DI T AU HGAI P FAUT B I FgAd 8¢ | I & &1 fear Frgar 2 (5)

A & B are partners sharing profit & losses in the ratio of 3:2. They agreed to dissolve their
partnership on 31 December 20126. The balance sheet of the firm as on that date is-

TR Liabilities Amount | IHIRT Assets Amount
z z
oIFGR Creditors 8000 799 (Machine) | 100000
JSil (Capital) FTH (Stock) 60000
A 110000 R (Debtors) | 78000
B 12000 182000  |JIHE (Cash) 32000
2,70,000 2,70,000

3" AR DI 80000 H ol DI RIS B TAT| SAGRI H 65000 I Il gU IR i
46000 ¥ 99 f3AT| TFGRI B Hl 840003 TBR A=Y fhal TAT| fdges WR 30003

g fhaT | gl Sar g1 |

‘A’ agreed to take over machinery at an agreed value of 80000. A sum of 63000 could be

realised from debtors and stock was sold for ¥ 46000. The crditors were satisfied by payment

of ¥ 84000. Expenses of dissolution amounted to ¥ 3000. Prepare Realisation Account.

341 _/OR
T WIEER B I F TH JHR U B 57

What are main rights acquired by a new partner.

FOMET & 2NeE @ fafie faftrt o deu § gdsy | (5)
Explain briefly the various methods of redemption of debentures..

3Aqr /OR
gfergfar M &1 ST fha—fea s & fog fear S Ao 27

For what purpose the security premium can be used?
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(1)

(IN)

(Il

Yvs—9 / SECTION-B

R et o gfid s —

Fill in the blanks:-

() T T JA B AT = e (-) AhHd AT
Cost of g0ods SOld = ........c.coevevrruennne. (-) Gross profit.

(i) /3T H IR IR —

Answer the following in true/false.

SRS Yol =Te] SR $T 9Te] R IR ST 7 |

Working capital is an excess of Current Assets over Current Liabilities.

(i) TP e /qMdT | IR QI |
Answer is one word/sentence
() <fd fed yeR & FEiy 87
What type of asset is goodwill?
APHS AT AT § T 3 2°
What is meant by Gross Profit Ratio?
Y€ o™ 31U Bl TN BHITSTY
Calculate Net Profit Ratio.

Y& ™ (Net profit) 80000

& dehd (Net sales) 4,00,000

b JaTg fIaRT 999 & I 9915 |

Explain the objectives of cash flow statement.
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V)

Rad =i &1 gfed Sy |
Fill in the blanks:-

() TP oo JUTell, el AR 3fg T T IR A1 & 99§ gRd
LAY SUTel IR T | (1)
A system provides immediate information regarding stock of raw
materal, semi finished and finished goods.

(i) I /I H IR SI— (1)
Answer the following in true/false-

IURIY = Y AHRET + TR + 51 + FI
Over head = Indirect Material + Material + Labour + Expenses

(i) TP I /qmdg H IR SIoI— (1)
Answer is one word/sentence-

() BTG HoTgX! B AT T 87
Which expenses is production wages?

ANTd oRdTh fd HEd & | (3)

What is cost Accounting?

AT WGThT BT &3 918y | (B1S IR) (4)

Explain the scope of cost accounting. (Any four)

1 faaRol | U IR SHI8 & ol ol oANTd df 0T dy— (5)

4
BT DY T AR BT AR 30,000
AT BT JIRME T ih 6,000
AT B BifoH b 4,000
HOTGNl T YT 3,000

Iared & oy fpvw R off 18 #ef9 &1 fvrar 5,000

Calculate prime cost from the following particulars for a production unit

4
Cost of material purchased 30,000
Opening stock of material 6,000
Closing stock of material 4,000
Wages paid 3,000

Rent of hired special machine for production 5,000
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